$$
\begin{aligned}
& \text { (21) } f(x)=\frac{x^{2}+1}{3 x^{2}-1}, x \neq \pm \sqrt{\frac{1}{3}} \\
& 3 x-1=0 \\
& x^{2}=\frac{1}{3} \\
& x= \pm \sqrt{\frac{1}{3}}= \pm \frac{\sqrt{3}}{3} \\
& f^{\prime}(x)=\frac{2 x\left(3 x^{2}-1\right)-\left(x^{2}+1\right)(6 x)}{\left(3 x^{2}-1\right)^{2}} \\
& f^{\prime}(x)=\frac{-8 x}{\left(3 x^{2}-1\right)^{2}} \rightarrow \begin{array}{c}
\text { crit } \\
x=0
\end{array} \\
& \lim _{x \rightarrow-\sqrt{\frac{1}{3}^{-}}} f(x)=\left\{\begin{array}{l}
\lim _{x \rightarrow \sqrt{3}_{3}^{-}} f(x) \\
\text { asymptote }
\end{array}\right. \\
& f(x)=\frac{x^{2}+1}{3 x^{2}-1} \\
& \lim _{x \rightarrow-\sqrt{\frac{1}{3}}^{+}} f(x)=9 \stackrel{9 \text { asymptote }}{=} \lim _{x \rightarrow \sqrt{\frac{1}{3}}^{+}} f(x) \\
& \frac{\text { huriz }}{y=\frac{1}{3}} \quad \frac{\text { intercepts }}{\text { no } x \text { int }} \\
& f^{\prime \prime}(x)=\frac{-8\left(3 x^{2}-1\right)^{x^{2}+(+8 x)(2)\left(3 x^{2}-1\right)(6 x)}}{\left(3 x^{2}-1\right)^{43}} \\
& f^{\prime \prime}(x)=\frac{72 x^{2}+8}{\left(3 x^{2}-1\right)^{3}}
\end{aligned}
$$

$$
\begin{aligned}
& \text { (25) } f(x)=x^{4}-16 x^{3}+42 x^{2}-39.6 x+14 \\
& \begin{array}{ll}
f^{\prime}(x)=4 x^{3}-48 x^{2}+84 x-39.6 \rightarrow \frac{\text { Crit \#'s }}{x=.895,1.11,9.999} \\
f^{\prime}(x)=12 x^{2}-96 x+84
\end{array} \\
& f^{\prime}(x)=12 x^{2}-96 x+84 \\
& \begin{array}{l}
12\left(x^{2}-8 x+7\right) \\
12(x-7)(x-1)
\end{array} \quad \frac{\text { crit\#' }}{x=1,7} \\
& \frac{\text { intercepts }}{\text { y-int }=14}
\end{aligned}
$$

$$
\begin{aligned}
& x \text { - int }=1,52 \\
& 12.9 \\
& f(.895)=1.372
\end{aligned}
$$

$$
\begin{aligned}
& f(1.11)=1.428 \\
& f(9.999)=-2182 \\
& f(1)=1.4 \\
& f(7)=-1292 \\
& \text { (1) -1292 }
\end{aligned}
$$

February 132013 1st.gwb - 3/3 - Wed Feb 132013 08:48:28

$$
\begin{aligned}
& \text { (11) } f(x)=\frac{4 x}{x^{2}-x+1} \\
& \frac{1 \pm \sqrt{(-1)^{2}-4(1)(1)}}{2(1)}=\frac{1 \pm \sqrt{-5}}{2} \\
& f^{\prime}(x)=\frac{4\left(x^{2}-x+1\right)-4 x(2 x-1)}{\left(x^{2}-x+1\right)^{2}} \\
& -4 x^{2}+4=0 \\
& x^{2}=1 \\
& f^{\prime}(x)=\frac{-4 x^{2}+4}{\left(x^{2}-x+1\right)^{2}}, \frac{\text { crit } x^{\prime} \text { s }}{x=1,-1} \\
& x= \pm 1 \\
& f^{\prime \prime}(x)=\frac{(-8 x)\left(x^{2}-x+1\right)^{6} \Theta\left(-4 x^{2}+4\right)(22)\left(x^{2}-x+1\right)(2 x-1)}{\left(x^{2}-x+1\right)^{* 3}} \\
& \frac{-8 x^{3}+8 x^{3}-8 x+16 x^{3}-8 x^{2}-16 x+8}{\left(x^{2}-x+1\right)^{3}} \\
& f^{\prime \prime}(x)=\frac{8 x^{3}-24 x+8}{\left(x^{2}-x+1\right)^{3}}=\frac{8\left(x^{3}-3 x+1\right)}{\left(x^{2}-x+1\right)^{3}}
\end{aligned}
$$

